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P(A)=0.3,P(B) =0.4,P(C)=0.45
- P(A")=0.7,P(B") = 0.6, P(C") = 0.55
.. No. of correct statements = 0.7(20) + 0.6(10) + 0.55 (40)

=14+6+22=42

. A & B are mutually exclusive.
Poisson distribution is always positively skewed.
P(A)=0.3,P(B)=0.4,P(AUB)=05

P(A ~B)=P(A) +P(B) —~P(A UB)=0.3+0.4-05=0.2

P(A’nB) _ P(B)-P(ANB) _ 0.4-02
P(B) P(B) T 04

Now, P(A'| B) = -05=1

Normal distribution is unimodal distribution.

Sum of points neither 6 nor 9 =36 — [5 + 4] = 27

. Probability = 2> = %= 0.75

2
3

S:F=3:1 S P(8)=% =p,P(F)=%=q
n=5x=0 2 PO =°Co (3y) (Y,

1 1
=Ixlx—=—
1024 1024

n=4,N=1600,p=1/, q=%
Probability of all four coins do not turn head

=1-p4)
4 0
=1-‘C4 (1) (3)
=1-1xix1=1-+=5
6 16 16

Leap year has 366 days. i.e. 52 weeks & 2 days.
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.. Probability of 53 Sundays = %

Herem=4&P(0)=e™=¢"*=0.0183

Here n = 36, A = {(4, 5), (5, 4), (3,6), (6, 3)}

For A : 5:7 (favour)

LP(A)=Z L PA) =

For B : 9 : 6 (against)
9 3
- P(B) = =& P(B) = 2/5

Now,PAUB)=1-P(A'nB)=1-Lx3=1-2=2_-217
12 5 60 60 180

p=%,q=% N=128,n=10,x<2

PO) + P(1) + PQ2) = °Co (1/,) (1/,) " +°C: (1) () +2°C2 (1) (/)

1 10 45 56

= + =
1024 1024 1024 1024

56

.. No. of investigators = — x 128 =7
1024

gx)>0andXg(x)=1
3X+4y+25=0

o4y =-3x-25

LV(Y) = V() ==X 6=2=3375
Here m =3, N =1000, x > 1

.. Probability =P(1) + P(2) + P(3) +
=1-P(0)
=1-eM=1-¢°=1-0.05=0095
.. No. of drivers = 0.95 x 1000 = 950

Subjective probability and Objective probability
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18. For standard normal distribution, Mean =0, S.D. =1

19.  Aand B are independent events .. P(A n B) =P(A) . P(B)

P(A U B) =P(A) + P(B) - P(A N B)

. 2=P(A) +3-P(A). P(B)

-3=P(A) -5 P(A)

L1z
S 15—3P(A)

L P(A) = =

Here m=15,x=1

P(1)=e ™.m=e *°(1.5) =0.2231 x 1.5 = 0.3347
i.e. 33.47 %

Probability = +2%s%

82

3
28 7

(d) (b) and (c).

0(1)=P(z<1)
= 0.5 +0.3413
=0.8413

Mean + variance = 6.4
N =10
np+npg=6.4
~.nP(1+q)=6.4
~10P(1+1-P)=6.4
~P(@2-p)=0.64

. P=04

(by trial & error method)
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card is diamond _ 13 _ 0.5
Card isred 26 '

Probability =

Here n =5, p = Probability of getting club = g =Y
S Q=%x=0

0 5 243 _ 243
P(O):SCO (1/4_) (3/4_) =1x 1Xm:m

Meanof X +y=p; + up =10+ 12 =22

SD.ofx+y=y/02 +02=vV32+42=1/9+16=v25=5
HereP (AN B) =0

and P(A N B) =P(A) . P(B)

. A and B are independent but not mutually exclusive.
(d) (a) or (b)

N =800, j1 = 50, & = 20

P(46 <x<62)=P(—-0.2<2<0.6)
=P(-0.2<z<0)+P(0<z2<£0.6)

=0.0793 +0.2257

=0.3050

.. No of students = 800 x 0.305 = 244

P(4)=P(5) ..m=5

n="Ps=5!=120 digits are 1, 2, 5, 6, 8

.. Probability =—=

36
120

33. N=75pu=50,06=5
P (x>60)=P(z>2)=0.5—0.4772 = 0.0228
.. No. of students = 0.0228 x 75 =2

34. MD = 0.86
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Q4 =0.6756

=0.675x10

. Q03—01
ST

S.Q3—Q1 =135
5. Q3—13.25=13.5

- Q3 =26.75

_ Q1+0Q3
2

M

_ 13.25+26.75
B 2

40

.. M=20
P(A)=2.P(B), P(B)=2P(C) .. P(A)=4P (C)
Now, P(A) + P(B) + P(C) = 1

~. 4P(C) + 2P(C) + P(C) = 1

. 7P(0)=1

- P(C)=1/7

P=1/2,q=%,n=5x=3

2 pE)=C (1) ()

=10x+x1=2_03125
8 4 32

Probability = & =1
4C2 6

Multiple of 50r 6 =5, 6, 10, 12
“m=4

4
. P(A) =%=E= 1/3

Meanofx+y=5+7=12

S.D.ofx+y=+/o? + 0% =32 +42=+25=5 [Ans.: C]

Product is positive if all are positive or all are negative or two positive and two negative.

6C4+8C4+6C2 X8C2 _ 15+70+420 _ 505
14C4 ~ 1001 1001

.". Probability = [Ans.: D]

any real number [Ans.: C]
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_ 1448 _
===

A{(2,3),(4,3),(6,3),(2,6), (4,6), (6, 6)}

11

6 1
" m=6 LPA)ET ===

S.D.=,/npqg = V48 X 0.75 x 0.25=3

No. of white Amount x; P(x;) Xi P(xi)
balls

0 400 5C;_ 10 4000/ 28
8C, 28
1 700 3C1 %56, _15 10500/28
8C, 28

2 1000 3CeX 56 _ 3 3000/28
8C, 28

1 17500/28

=625

.. Exp. =625 -400 = 225
No. of correct balance sheet=0.8 x 60+ 0.7 x 70 + 0.9 x 90
=48+49+81 =178

Mean = Variance = 30

P(EEUF)=1-PENF)=1--X—=%
5 10 50

True
n=6p=1/3,q9=2/3

x=1,2,3,4,5

<. Probability = 1 — [P(0) + P(6)] = 1 — [°Co (1/3)°(2/3)° + °Ce (1/3)6(2/3)0]

65 _ 664

64 1
:1—[—+—:|- _——=
729 729 729 729
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